Name:________________________________Period:___________Date:________________________
Scenario 1:
1. A library has 8000 books and is adding 500 more books each year.

First 6 terms: ___________, ___________, ____________, ___________, ____________, ___________
	
	

	
	

	
	

	
	

	
	

	
	

	
	




What patterns do you notice going from one term to the next?







Scenario 2:
At the start of a carnival, you have 50 ride tickets.  Each time you ride the roller coaster, you have to pay 6 tickets.

First 6 terms: ___________, ___________, ___________, ____________, ___________, ___________
	
	

	
	

	
	

	
	

	
	

	
	

	
	




What patterns do you notice going from one term to the next?






KEY TERMS:
Sequence:_________________________________________________________________________________________________________________________________________________________________
Arithmetic Sequence: __________________________________________________________________________________________________________________________________________________________________________
[bookmark: _GoBack]Common Difference: __________________________________________________________________________________________________________________________________________________________________________
